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Cuadro 7 (continuación 3)/Table 7 (continued 3)
Costa Rica: tablas abreviadas de mortalidada

 Costa Rica: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.032 0.032  100 000  3 165  97 504 0.967 b 6 973 264 69.7
1 4 0.002 0.006  96 835   599  385 787 0.994 c 6 875 760 71.0
5 5 0.001 0.003  96 235   257  480 534 0.997 6 489 974 67.4

10 5 0.001 0.003  95 978   267  479 223 0.996 6 009 440 62.6
15 5 0.001 0.005  95 711   474  477 371 0.994 5 530 217 57.8
20 5 0.001 0.007  95 237   696  474 446 0.992 5 052 846 53.1
25 5 0.002 0.009  94 541   814  470 672 0.991 4 578 399 48.4
30 5 0.002 0.010  93 728   903  466 381 0.989 4 107 727 43.8
35 5 0.002 0.012  92 825  1 092  461 393 0.986 3 641 347 39.2
40 5 0.003 0.016  91 733  1 463  455 005 0.981 3 179 953 34.7
45 5 0.005 0.023  90 269  2 080  446 146 0.971 2 724 949 30.2
50 5 0.007 0.036  88 189  3 136  433 108 0.954 2 278 802 25.8
55 5 0.012 0.057  85 054  4 875  413 080 0.924 1 845 695 21.7
60 5 0.020 0.095  80 178  7 610  381 868 0.879 1 432 615 17.9
65 5 0.032 0.150  72 569  10 867  335 677 0.819 1 050 747 14.5
70 5 0.048 0.217  61 702  13 387  275 043 0.749  715 069 11.6
75 5 0.069 0.295  48 315  14 277  205 884 0.651  440 026 9.1
80 5 0.109 0.426  34 038  14 500  133 941 0.515  234 143 6.9
85 5 0.172 0.588  19 538  11 491  68 963 0.365  100 202 5.1
90 5 0.264 0.750  8 047  6 038  25 139 0.224  31 239 3.9
95 5 0.389 0.877  2 009  1 762  5 638 0.076 d  6 100 3.0

100 ω 0.533 1.000   246   246   462   462 1.9
Mujeres/Females

0 1 0.025 0.024  100 000  2 421  98 012 0.973 b 7 466 279 74.7
1 4 0.001 0.006  97 579   579  388 731 0.995 c 7 368 266 75.5
5 5 0.000 0.002  97 000   187  484 535 0.998 6 979 535 72.0

10 5 0.000 0.002  96 814   174  483 633 0.998 6 495 001 67.1
15 5 0.000 0.002  96 640   226  482 633 0.997 6 011 368 62.2
20 5 0.001 0.003  96 413   304  481 308 0.996 5 528 735 57.3
25 5 0.001 0.004  96 110   402  479 544 0.995 5 047 427 52.5
30 5 0.001 0.006  95 708   532  477 208 0.993 4 567 883 47.7
35 5 0.002 0.008  95 175   721  474 075 0.991 4 090 675 43.0
40 5 0.002 0.011  94 454  1 013  469 740 0.987 3 616 600 38.3
45 5 0.003 0.016  93 442  1 475  463 522 0.980 3 146 860 33.7
50 5 0.005 0.024  91 967  2 215  454 296 0.969 2 683 338 29.2
55 5 0.008 0.038  89 751  3 386  440 292 0.951 2 229 042 24.8
60 5 0.012 0.060  86 366  5 185  418 866 0.923 1 788 749 20.7
65 5 0.020 0.096  81 181  7 793  386 422 0.877 1 369 884 16.9
70 5 0.033 0.153  73 388  11 200  338 940 0.808  983 462 13.4
75 5 0.054 0.238  62 188  14 815  273 903 0.709  644 522 10.4
80 5 0.088 0.359  47 373  17 030  194 290 0.580  370 619 7.8
85 5 0.141 0.515  30 343  15 612  112 685 0.430  176 329 5.8
90 5 0.221 0.685  14 731  10 084  48 446 0.280  63 644 4.3
95 5 0.336 0.834  4 647  3 876  13 547 0.109 d  15 198 3.3

100 ω 0.467 1.000   772   772  1 651  1 651 2.1

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


